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Chem 160-Jasperse
Mechanisms and Rate Laws

Distinguishing among possible mechanisms, given a rate law:
1. Which mechanism is plausible for the reaction shown, given the rate law:

A+2B—-C rate = k[A]

a. A +B—D (slow)
D +B— C (fast

b. B +B— E (slow)
A+E— C (fast)

€. A — F (slow)
F+B— G (fast)
G + B — C (fast)
d. B + B — H (fast)
A+H— C (slow)
Identifying a Rate Law, given the Mechanism:
2. Given the mechanism shown, what is a reasonable rate law?
2A+2B—C
Mechanism: A +B—D (slow)
D+ B — E (fast)
A +E — C (fast)
a. r =k[A][B]
b. r=k[A][E]
c. r=k[AJ[BT

d. r=k[AT[B)’[DIE]



